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03 HAH2EHI 8,000 0 8,000
OHSANE 2 24 8,000,000& * 14l 8,000
L= 4,000
Al 4,000
2ot2ZE dSANYE SEAMY 2,431,000 0 2,431,000
= 2,210,000
= 221,000
401 AIEHIZ 2 2,431,000 0 2,431,000
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L= 221,000
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01 AFR 22l 9,300 13,100 A 3,800
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X ESAt 222l 3,000 3,000 0
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O LA RI KH& Q123 28 A At X&) 20,000 0
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Ol X Rt el [JA(J]=01=)
20,000,000& = 14 20,000
EHs 28X 23N 30,000 30,000
402 212t XH=01H 30,000 30,000
01 QAN EEX 30,000 30,000
O=HMas 284 &
30,000,000& * 14 30,000
ATHAEHUHX X EESA 1,197,000 1,197,000
= 695,000
Al 502,000
401 AIEHIZ 2 1,197,000 1,197,000
695,000
502,000
01 Al&H| 1,177,990 1,177,990
OSHE4+T 442 23
942,840,000 * 14 942,840
= 566, 104
Al 376,736
O=0MsdH EH SONES
235,150,000& = 14 235,150
= 117,575
Al 117,575
02 Zeldl 14,700 14,700
OEMNE+ZT A= 14,700,000& * 14 14,700
= 8,820
Al 5,880
03 AIE=20bl 4,310 4,310
OsHE+Z &A™ 3,460,000 * 14 3,460
= 2,076
Al 1,384
O=2UM=sHH gAlIE
850,000 * 14 850
425
425
EHYE=E S At 180,000 180,000
& 54,000
Al 126,000
402 It X =01H 180,000 180,000
& 54,000
Al 126,000
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& 54,000
Al 126,000
2SS D50 LE) 2,521,336 1,828,273
= 1,403,560
= 200,000
= 167,333
Al 750,443
EAMZAHAZE 48,000 48,000
& 24,000
Al 24,000
S AHE stotEd =3 8,000 8,000
& 4,000
Al 4,000
307 2I2t0l™ 8,000 8,000
& 4,000
Al 4,000
02 GIZtAAMEX 8,000 8,000
O AME stotESH=U3 K&
8,000,000& = 14] 8,000
& 4,000
Al 4,000
CSYHEMNYEA 23 X 40,000 40,000
& 20,000
Al 20,000
307 QI2t01A 40,000 40,000
= 20,000
Al 20,000
02 QItBAEX 40,000 40,000
OLsEHENEA
40,000,000 * 14 40,000
& 20,000
Al 20,000
HE L ALZS 97,700 1,450
22 =Xz 2el 51,600 A500
201 LEt23| 1,600 A500
02 222ZH| 1,600 A500
o2 MH=X3 = 243
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700,000& * 13 700
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201 et9h| 400 450 A50
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O At2eE F2F& -l 3,000,000 = 14 3,000
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201 22| 700 700 0
01 AtR2t2ldl 700 700 0
O:LAMEESS 28+Y
70,000& = 5% * 23] 700
NEZFA 2,375,636 548,813 1,826,823
= 1,403,560
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101 Q14| 420,597 422,813 A2,216
= 200,000
& 20,597
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Al 69,353
405 AHeHESHI 15,000 0 15,000
= 12,110
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AHEE= SN BT
HEEANEWY LS (SEHS SN/ 5D - &)

oS SLPSPNEE (ctel: &
- _ _ Muo
22N FB SRS  NBAY - BAS 0l & 24 e HRE2
P 3,899,828 3,279,467 620,361
= 348,932
= 405,200
| 521,384
& 204,719
Al 2,419,593
S Ao (ML /s - 5&) 3,881,528 3,260,764 620,764
= 348,932
& 405,200
| 521,384
< 204,719
Al 2,401,293
SNsSIOtdEetE N 922,484 1,427,266 A504,782
= 25,000
| 404,174
& 60,844
Al 432,466
YSAZ A ALY XA 44,000 0 44,000
402 SI2H 201 44,000 0 44,000
01 It EEX 44,000 0 44,000
Ogasmz X7 44,000,000 * 14l 44,000
SN HXIAAS 30,000 30,000 0
307 GI12+0l & 30,000 30,000 0
05 2IRIRAES 30,000 30,000 0
OsudH & 30,000,000& * 14 30,000
IIIEESHEAY 24,500 24,000 500
402 It XHE01H 24,500 24,000 500
01 B2 EX 24,500 24,000 500
OJt=gsHe 24,500,000& » 14 24,500
A Mo ZHEEA HHl XIRALY 40,000 0 40,000
402 QI XHE01H 40,000 0 40,000
01 BIZPGEEX 40,000 0 40,000
OXAMNE e 2 SESA &l X
40,000,000& = 14 40,000
YESH(MS)NEAE 10,000 10,000 0
402 I XHE01H 10,000 10,000 0
01 BIFGE2EX 10,000 10,000 0
OLE(AME)=2H X 10,000,000& * 1A 10,000
ZRASMZ AU KA 16,400 17,800 21,400
201 LetIH| 3,500 4,300 A800
01 AtE222/Hl 3,500 4,300 A 800
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PRES SN SAD
HYEANZYY S (STHY AL/ 5Y - 5&)
EMSIIE YOI

= = HUE &
SN BB S(B) - HEAY - BES Ao Gl o HRE2
SPEE] 3,500
oYAZH HHMHHI 255 28
500,0008 * 204 * 23l 2,000
oUAZA AXMSEI DA K
500,0002 * 144 500
CUAZMATYS &I 2YSE 7Y
1,000,000 * 14} 1,000
206 T2l 2,000 2,600 600
01 T2l 2,000 2,600 A600
OYASMNANNE &)t BES AB7Y
300,0002 * 55 1,500
OLFENATYS &It EES FZY X
¢ 50,0008 * 1074 500
01 Yer a3 7,900 7,900 0
10 BAAHIZ A 7,900 7,900 0
OYASAHBTUS &I} N 4,700
CUASMNAFUE EHIHE)
3,200,0002 * 14! 3,200
ot RABEE FI} (FY)
1,500,0002 * 14 1,500
OSMSUE BB &I}
80,0002 * 23] * 20 3,200
307 212t0 3,000 3,000 0
04 DIFBALE X 3,000 3,000 0
OS40l B0HSMHE & IHXIE
3,000,0008 * 14! 3,000
e =M W2Y X 12,000 40,000 28,000
206 M2l 2,000 40,000 28,000
01 T2 12,000 40,000 28,000
OHIS =T 3,000,008 * 14! 3,000
OAFZEIHH 3,000,0002! * 14! 3,000
O A0l 211 < 3,000,002 * 1Al 3,000
OSMSZM, HHUSH 3,000,008 * 14 3,000
& @eolY 54 7,600 8,000 A400
201 2er | 400 500 A100
01 At 22l 400 500 A100
LIS =1l] 400
o UALEY 200,0002! * 2% 400
01 YsrBA2 7,200 7,000 200
10 SAHAHIZ A3 7,200 7,000 200
OMIIZRS Sl SAH|
7,002 * 20% * 53] 700
OF4=20F DSOIHI 4,000,008 * 14! 4,000
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oS QHE X CHo i E e
2 = I &lEE =
= - 2M - 33 (3H) - MEAMY - BES &HeR Ol A o8 R
OF =t g | 24 F4A(s1)
2,500,000& = 14| 2,500
HetH=DI| K& 10,000 25,000 215,000
402 2I2tXt=01& 10,000 25,000 215,000
01 Bl X=2E XL 10,000 25,000 A 15,000
OAlet M= I X2 10,000,000& * 14 10,000
SMAIES U S ALE 48,998 0 48,998
P 48,998
402 2IZ2tt=0ld 48,998 0 48,998
Jl 48,998
01 Bl X=E XL 48,998 0 48,998
OFAAIEE 48,998,000 * 14 48,998
Jl 48,998
StHRKRsA ALY 255,966 224,235 31,731
p) 179,176
= 15,358
Al 61,432
307 21201 A 255,966 224,235 31,731
Il 179,176
[ 15,358
Al 61,432
02 BIAAHEX 255,966 224,235 31,731
Ostu2Rs 255,966,000& * 14| 255,966
P 179,176
= 15,358
Al 61,432
B3NS HISSRR 5,500 6.100 2600
= 1,650
Al 3,850
402 2I2tt=E01d 5,500 6,100 A 600
= 1,650
Al 3,850
01 2IZ=2ER 5,500 6,100 2600
OHFDNEEH 18 At
5,500,000& * 14| 5,500
= 1,650
Al 3,850
HACCPXI &= X1 & Ab 19,200 0 19,200
Jl 9,600
= 1,920
Al 7,680
307 2ztold 19,200 0 19,200
Il 9,600
[ 1,920
Al 7,680
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Mo HEEAAUY LIH(SRHSLL/EY - X
B9 SAEIIESOE N B (e @)
A .S M. (5 H) - MEAMY - BHAS O] Ak OH S H =2
== ° T iy o L) ° T NS oS =5 &= 04| AFOH U=sa
| 3] 8,900
SS0/2 MM H2& Jl=Ad 50,000 0 50,000
= 25,000
Al 25,000
402 DIt X =01 M 50,000 0 50,000
= 25,000
Al 25,000
01 aI2tX}28x 50,000 0 50,000
O==0l8 MM HZ JI=AlE
50,000,000& * 14 50,000
= 25,000
Al 25,000
SisItEZEerd 233 | 7,200 5,300 1,900
202 Ol 5,200 3,800 1,400
01 =LA b 5,200 3,800 1,400
OSLEHBYABALET Of b
5,200,000 » 14 5,200
203 PR =&l 2,000 1,500 500
03 AIMFEHRFEH| 2,000 1,500 500
OSSR A MEA 2,000,000& * 14 2,000
HESA AIEMHHA 1,072,800 476,768 596,032
= 130,600
& 36,240
Al 905,960
FAHAXSG o SAt BE3 Ul ALY 600,000 0 600,000
401 AIEHIZ 2O 600,000 0 600,000
01 Al&HI 568,500 0 568,500
FAHXNG QIS ESAt SEHUIAY
568,500,000 * 14 568,500
03 Al =20HYI 31,500 0 31,500
OFAHASE 2E =A S3FHIAME A2
31,500,000& * 14 31,500
=2 222 ZH(SEY, &) XA 120,000 100,000 20,000
402 DIt X =01 M 120,000 100,000 20,000
01 St =2 X 120,000 100,000 20,000
OsEx2XZMH(S2.gH)32
120,000,000& * 14 120,000
SAMAIE EEME NSALS 50,000 48,000 2,000
402 It X =01 M 50,000 48,000 2,000
01 It =2EX 50,000 48,000 2,000
OFAAIE &Z i 50,000,000& * 14 50,000
IIEELD MelAld(HSAIE) 33,000 43,868 A 10,868
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19,800
2,640
10,560

402 QI2ERHE0IM

= N W

33,000
19,800

2,640
10,560

43,868

A 10,868

01 QIZHR}
HelA & (SHEAL)
33,000,0008 * 1Al

=z HnH

33,000

33,000
19,800

2,640
10,560

43,868

A 10,868

HHINE = &X

= HH

108,800
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13,600
54,400

54,400

54,400

402 QI2ERHE0IH

= HN W
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13,600
54,400
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108,800,000 * 14

= N W
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40,800
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S
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fr
2
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e
0z
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= H
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6,000
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24,000

A4,000

402 QIEHE01H

= M

20,000

6,000
14,000

24,000

A4,000

<
e
&3
bl
HL i
froH
kA

O
S
A

]2
=5
gk
0x
Lol

t 20,000,000& =+ 14

= H

20,000
20,000

6,000
14,000

24,000

24,000

Myl ZHl K&

= N W

140,000
70,000
14,000
56,000

80,000

60,000

= HnH

140,000
70,000
14,000
56,000

80,000
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| & L4 140,000,000& = 14

H

140,000
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A FNEES A
Nu: HEEMANL Ao (SHASN/ 5D - 5E)
HEEA ALNA o @a
jun | l:!A_I X XH [:l-ol(:lj;”) }\.”I:l}\l,O'l HAX A} OH II_-Il_Ii'—'l:— =2}
= ° T iy o L) . TNIs oS =5 &= 04| AFOH S o
= 14,000
Al 56,000
HESAI AMEHE 2E 3| 1,000 1,500 A500
202 44| 1,000 1,500 A500
01 =LHOA b 1,000 1,500 A500
OEESMAEMNLLRFE ]
1,000,000& * 14 1,000
SIRYES 24 601,810 444 450 157,360
& 155,200
| 9,990
& 52,077
Al 384,543
II=Z0HAIE =4 135,000 0 135,000
402 DIt X =01 M 135,000 0 135,000
02 SIZ2tCHE AL I 135,000 0 135,000
OJIEZUANE =4 135,000,000& * 14 135,000
SEXE AZHA2IX 46,000 0 46,000
402 SI2tX 201N 46,000 0 46,000
01 SIZtGEEZ 46,000 0 46,000
OFREANZMA 29H| X
46,000,000 = 14] 46,000
NFE=F XA 22,500 12,600 9,900
402 SI2tX =201 M 22,500 12,600 9,900
02 SI2tCHE AL I 22,500 12,600 9,900
OJ=els3z XA 22,500,000& * 14 22,500
SOFX A AHOHE AL 10,400 8,900 1,500
& 2,080
Al 8,320
402 SI2tX 201N 10,400 8,900 1,500
& 2,080
Al 8,320
02 SI2tCHE AL I 10,400 8,900 1,500
OSOLKI MM AFOFE AL 10,400,000& * 14 10,400
& 2,080
Al 8,320
LRGSR SAYES MW 16,530 18,670 22,140
& 4,959
Al 11,571
402 SI2tX 201N 16,530 18,670 22,140
& 4,959
Al 11,571
02 SIZ2tCHE AL I 16,530 18,670 A2,140
OZste S M 16,530,000& * 14 16,530

_46_




0 Nz
L

22
J2

=2
M
12

=M

4,959
11,571

R DNDS| E~ES | DR

= M

40,000

12,000
28,000

40,000

402 DIZHXE0IA

=M

40,000

12,000
28,000

40,000

01 QIZIRI=E X
A

o
o
>

| MZEZYl K&

40,000,000& = 14|

= M

40,000

40,000

12,000
28,000

40,000

= H1 o

310,400
155,200

31,040
124,160

362,780

52,380

307 GI2t0ld

= H o

41,120
20,560

4,112
16,448

136,964

295,844

02 QIFARE
o
e

41,120,0002 * 14!

= H1 o

41,120

41,120
20,560

4,112
16,448

136,964

~95,844

o
N

r
:

402 X201 &

= H1 o

269,280
134,640

26,928
107,712

225,816

43,464

02

e
N

FCH

>

teid

0¥ o

O
]

o
e

o
eI AL (XE)

269,280,000& = 14|

= ool

269,280

269,280
134,640

26,928
107,712

225,816

43,464

H

19,980
9,990
1,998
7,992

19,980

307 2I2+0| &

=X

19,980
9,990
1,998
7,992

19,980

02 DIHHABX
=]
=

19,980,000& * 14

Jl

19,980

19,980
9,990

19,980
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Nu: MEEMANL Ao (SHASN/EY - 5E)
0o BeNES S4 @
Al l:!A_I X XH [:l-ol(:lj;”) . }\.”I:l}\l,O'l HAX A} OH II_-Il_Ii'—'l:— =2}
= - iy o L) T NS oS =5 &= 04| AFOH S o
= 1,998
Al 7,992
SRYES 4 2F 3| 1,000 1,500 A500
202 44| 1,000 1,500 A500
01 =LHOA b 1,000 1,500 A500
OetEES SHHRFE ¢l
1,000,000& * 14 1,000
Ao =4 424,020 152,137 271,883
& 250,000
& 4,205
Al 169,815
2SS HIJIEAE X AL 9,000 12,000 23,000
402 It X =01H 9,000 12,000 A 3,000
01 Y2t G=2EX 9,000 12,000 A 3,000
OLsE BIJIEAE &X 9,000,000& * 14 9,000
HUSHE=SESAY 400,000 0 400,000
250,000
150,000
402 DIt X =01 ™ 400,000 0 400,000
250,000
150,000
01 QU222 X 400,000 0 400,000
OHMUSAESTIAIZ  400,000,0003 = 14] 400,000
& 250,000
Al 150,000
HAESIH I AHEX R 7,650 10,787 AN3,137
== 2,295
5,355
402 DIt X =01 ™ 7,650 10,787 AN3,137
& 2,295
Al 5,355
01 It 22X 7,650 10,787 A3,137
OBEMEsIH d92E &
7,650,000& * 14 7,650
== 2,295
Al 5,355
HAEE WA BB EAHE 6,370 0 6,370
& 1,910
Al 4,460
402 It X201 M 6,370 0 6,370
& 1,910
Al 4,460
02 QIZtCHEAMBI 6,370 0 6,370
OLJAFEHYR HSEAHE 6,370,000& * 14 6,370
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M3 AHEE SA BN
Nu: MEEMANL Ao (SHASL/EY - BE)

. 242 omge B (Sre: &)
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T (=) iy o L) ° TNs a3 &= 04| AFOH U=sa

OHX.& E3372 HgUY= 60,0008 » 1504 9,000
O=d S ¥ dED| A
10,000& * 600 6,000
ot&J| = 10,000 * 6604Y 6,600
Oisdgges (8,84 WAl S)
5,000,000& * 2& 10,000
OgtdEE o 20,000& * 5004 10,000
301 LEEAZ 28,200 33,800 25,600
10 SAtAHI 243 900 900 0
O3=2 BExUs 150,000& * 3% * 23] 900
12 J|EtE &= 27,300 32,900 25,600
OS2 A = 700,000& + 3% * 123 25,200
O4 B=24et JHE| 7,000& * 3005 2,100
IS (F4) 312,404 202,833 109,571
= 178,332
= 26,814
Al 107,258
206 MZ 4l 254,904 202,833 52,071
= 156,282
& 19,724
Al 78,898
01 =z 4l 254,904 202,833 52,071
OoNgxE== 254,904,000 * 14 254,904
= 156,282
& 19,724
Al 78,898
301 etEA3 57,500 0 57,500
= 22,050
& 7,090
Al 28,360
12 JIEt2 432 57,500 0 57,500
O0tMs=S2A ZH|
12,000,000& = 14 12,000
= 8,400
& 720
Al 2,880
O4AB242tH MEEH
45,500,000& * 14 45,500
= 13,650
& 6,370
Al 25,480
SAES A2 300 1,000 A700
201 2Et23| 300 500 A 200
01 AtS2t2ldl 300 500 A 200
ORZF=zNE 4 300,000& * 14 300
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0z N>
J2

22
J2

20
B
2

= W

30,000

15,000
15,000

40,000

= W

30,000

15,000
15,000

40,000

A 10,000

30,000,000& = 14!

= W

30,000

30,000

15,000
15,000

40,000

A 10,000

3,000

5,000

A2,000

3,000

5,000

A2,000

3,000,000 * 14

3,000
3,000

5,000

22,000

>y

208,440

104,220
20,844
83,376

177,510

30,930

206 =4l

= H X

46,440
23,220

4,644
18,576

42,882

3,558

46,440,000 * 14

=X

46,440

46,440
23,220

4,644
18,576

42,882

3,558

=X

162,000
81,000
16,200
64,800

134,628

27,372

162,000,000& = 14|

H0

=X

162,000
162,000

81,000
16,200
64,800

134,628

27,372

O
o

= H

21,420

3,095
18,325

21,420

206 M= Hl

=

21,420

3,095
18,325

21,420

01 M=l
ONA=D

(= )

21,420,000& = 14!

H

21,420
21,420
3,095

21,420
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ZHAE= SN A S D
T - MH Ao A/ - ME)
MUY XY (erel:®e)
_ _ SIEN
=-2Md -3 . H2(3H) - MIRAI - BES &k OH loﬂ/'\_FOH BlusZ
=X ot 22,776,579 22,671,003 105,576
= 7,849,890
z 2,072,026
= 2,360,274
Al 10,494,389
ME ZENY X4 AL/ - APE) 22,731,879 22,630,825 101,054
= 7,849,890
= 2,072,006
= 2,360,274
Al 10,449,689
MR E4 1,878, 124 2,664,439 786,315
= 733,389
= 528,026
= 152,825
Al 463,884
xd 1,044,365 1,453,927 409,562
= 678,956
= 109,623
Al 255,786
401 N EHIYL 2] 472,475 1,044,805 A572,330
= 291,462
= 54,304
Al 126,709
01 Al 450,475 984,805 534,330
oz 450,475,0002 * 14! 450,475
= 278, 162
= 51,664
Al 120,649
02 22l 12,000 20,000 8,000
e 12,000,0002! * 14! 12,000
= 7,200
< 1,440
Al 3,360
03 Al& =0t 10,000 40,000 30,000
oxg 10,000,0002! * 14! 10,000
= 6,100
= 1,200
Al 2,700
400 QI2tXHEO01 A 571,890 409, 122 162,768
= 387,494
= 55,319
Al 129,077
01 QIARp=L2E 571,890 409, 122 162,768
oxg 571,890,008 * 14! 571,890
= 387,494
< 55,319
Al 129,077
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0 Nz
L

o

M
40
tor
X
=
1C
=
1%
g
0x
Jo

=2
M
12

= H o

660,033
528,026
33,002
99,005

862,254

N202,221

101 1A H]

=

41,422
33,138
2,071
6,213

27,754

13,668

04 JI2HA

41,422,000& * 14

= H1 o

41,422
41,422

33,138
2,071
6,213

27,754

13,668

401 AIEHIZ2HY

= H1 o

618,611
494,888
30,931
92,792

834,500

N215,889

02 Zel

03 Al&

504,611,0002 * 14!

= H1 o

9,000,000 = 14

= H1 o

15,000,000& = 14

= H1 o

594,611

594,611

475,688
29,731
89,192

9,000

9,000
7,200
450
1,350
15,000
15,000
12,000
750
2,250

804,500

20,000

10,000

209,889

A 11,000

5,000

= W

6,000

4,200
1,800

24,000

A 18,000

402 QI2tH=0| A

= W

6,000

4,200
1,800

24,000

A 18,000

01 PIAX=EX
A

6,000,000& * 14!

= W

6,000

6,000

4,200
1,800

24,000

218,000

= HH

20,756
16,143
1,384
3,229

29,925

A9,169

20,756

29,925

29,169
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AR PRTE= SN AEXD
Ha: HE - ME YSHE SN SA/LY - &E)
el MRTHE X4 2
Al 2 l:lA XN xH Ctel(a }\ C‘AO‘I HAEZ A} OH X‘—-IL‘EL‘:— 2JF
= 16,143
S 1,384
Al 3,229
01 2ItX=E X 20,756 29,925 29,169
OREIINEX 20,756,000& = 14! 20,756
= 16,143
= 1,384
Al 3,229
HABLHES 77,140 30,333 46,807
= 33,060
= 8,816
Al 35,264
402 BI2H K201 77,140 30,333 46,807
= 33,060
= 8,816
Al 35,264
01 It ELE L 77,140 30,333 46,807
ORI 2,660,000& = 29CH 77,140
= 33,060
< 8,816
Al 35,264
Hol2s £4 62,000 28,000 34,000
201 LetEE] 5,000 3,000 2,000
03 A2 HI 5,000 3,000 2,000
OAl=eiA 2 5,000,000& * 14 5,000
206 M=H 52,000 20,000 32,000
01 M=Hl 52,000 20,000 32,000
OUUR Li=0i==)] dA B=
5,000& = 10,000= 50,000
O=EAEE 20,000& * 100& 2,000
301 Ypt8azg 5,000 5,000 0
10 EAIAHI2 & 5,000 5,000 0
OutE MY = 5,000& = 1,000 5,000
METREE 23 6,800 7,500 AT700
202 O 4,800 6,000 1,200
01 WA 4,800 6,000 A 1,200
OuE =y gdR2Fd 800,000& * 6 4,800
203 HRF4Hl 2,000 1,500 500
03 ANE=XHR 2,000 1,500 500
O& S A & 2,000,000& * 14l 2,000
LS H A 1,030 0 1,030
= 1,030
405 KHoHESHI 1,030 0 1,030
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A2 AHEER SN ARSI
M MY - ME) 2SaE LAt/ AR - AE)
DaRXE x4 ?lER)
_ = PSS
22N FHH O () - NRAY - BES Ol AF o8 =
= 1,030
01 XH&atdd F =4I 1,030 0 1,030
ogdy &l 1,030,000 = 14 1,030
= 1,030
AEHME - 2H0Is A 1,749,889 1,453,596 296,293
= 1,039,652
< 202,197
Al 508,040
sEdaise 1,677,856 1,368,804 309,052
= 1,039,652
= 191,447
Al 446,757
101 1A 103,490 84,233 19,257
= 53,464
= 15,008
Al 35,018
04 JIZtHIZ2 XS 103,490 84,233 19,257
OM&dsE K| 4,962,000& » 14 4,962
= 3,571
S 417
Al 974
Oggt s 37,288,000& * 14 37,288
= 19,273
< 5,405
Al 12,610
Ot S0l 61,240,000& = 14! 61,240
= 30,620
= 9,186
Al 21,434
201 LEH2HH| 16,600 21,200 4,600
= 8,300
= 2,490
Al 5,810
01 AtR 2 6,600 6,200 400
OFag= =0l 6,600,000& * 14 6,600
= 3,300
= 990
Al 2,310
02 332 10,000 15,000 /5,000
Ot S0l 10,000,000& = 14 10,000
= 5,000
= 1,500
Al 3,500
206 M 24 18,352 15,056 3,29
= 9,176
= 2,753
Al 6,423
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0z N>
-

CRA - EHH G (B) - NRAIY - BAS Bl =2
0l &

01 M=Hl 18,352 15,056 3,296
S =02 18,352,000& * 14l 18,352
= 9,176
& 2,753
Al 6,423

401 AIEHIZ 2 1,498,414 1,228,064 270,350
= 948,212
= 165,047
Al 385,155

01 Al&H| ,392,202 1,208,064 184,138
Oosdsntelgr 928,860,000& * 14 928,860
= 650,535
L= 83,478
Al 194,847
O STHol H 2 456,508,000& * 14 456,508
= 228,254
& 68,476
Al 159,778
ORIHAHALE 6,834,000& = 14l 6,834
= 3,417
= 1,025
Al 2,392

02 Zeldl 86,212 0 86,212
Osd=sntel g 47,500,000 = 14 47,500
= 33,250
= 4,261
Al 9,989
OLUS S THH M 2 38,712,000& * 14 38,712
= 19,356
& 5,807
Al 13,549

03 AIZ=20bl 20,000 20,000 0
SAEIeI A 20,000,000& * 14 20,000
= 13,400
& 2,000
Al 4,600

405 XH&HFE SHI 41,000 20,251 20,749
= 20,500
& 6,149
Al 14,351

01 T ESHSHI 41,000 20,251 20,749
OMEsEER 9,500,000& * 14l 9,500
= 4,750
& 1,425
Al 3,325
OsA=smel g 30,000,000& * 14 30,000
= 15,000
= 4,500
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AR ANIER SAAESXD
M HE . ME YSHE TA(SWLSA/AY - AE)
Sl MRME - B#F|s S (e @
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 Sl e HRE2
A 10,500
OMZHHSHELHE 1,500,008 * 1A 1,500
= 750
= 224
Al 526
25 2F| 35,833 32,164 3,669
= 10,750
Al 25,083
401 Al&HIL 20| 35,833 32, 164 3,669
= 10,750
Al 25,083
01 Al&H] 35,833 32,164 3,669
0254 FU(23) 35,833,008 * 14! 35,833
= 10,750
Al 25,083
US ALR YED 2Y 13,000 15,000 A2,000
307 212+0IH 13,000 15,000 A2,000
EEIENEES 13,000 15,000 2,000
OUSALIR YEZT 2% 13,000,000 * 14 13,000
zol2® Wl M 20,000 20,000 0
401 AlAHIL 20| 20,000 20,000 0
01 Al&H] 20,000 20,000 0
OF0IZ2H WS MH 20,000,002 * 14 20,000
NYMEISE YA 3,200 4,000 800
202 01t 3,200 4,000 800
01 =2Uoibl 3,200 4,000 800
OB MEY BFIIS 7 ALEF
800,008 * 4% 3,200
ArEE . A BRDIS 2 4,607,622 3,021,067 1,586,555
= 1,529,962
= 667,834
Al 2,389,826
NEEISIES 1,048,534 680,138 368,396
= 419,414
= 188,736
Al 440,384
101 0121l 799,684 425,038 374,646
= 319,874
= 143,943
Al 335,867
04 JAMZRIISES 799,684 425,038 374,646
OMSHSU LML 788,190,000 * 1A 788,190
= 315,276
= 141,874
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AR ANIER SAAESXD
M HE . ME YSHE TA(SWLSA/AY - AE)
R RN EIPIEET ! (e @
= = PSS
SA-HH . (3H) - HEAY - BE=2 Ofl & o Gil it o Rz
A 331,040
OMNEFSULRSHE 2L
3,000,0008 * 14! 3,000
= 1,200
= 540
Al 1,260
OMSLXI0IABAES 8,494,008 * 14 8,494
= 3,398
= 1,529
Al 3,567
201 Yer2g| 135,350 99,000 36,350
= 54, 140
= 24,363
Al 56,847
01 AtR2elt| 135,350 99,000 36,350
OJHQI R 3 &bl 70,500,008 * 14! 70,500
= 28,200
= 12,690
Al 29,610
OMEUXZAR 222 26,000,002 * 14 26,000
= 10,400
= 4,680
Al 10,920
OtrERE Al 10,850,0008 * 14! 10,850
= 4,340
= 1,953
Al 4,557
OMEZAIY SIXIZR 28,000,008 * 14 28,000
= 11,200
= 5,040
Al 11,760
202 01t 7,000 6,000 1,000
= 2,800
= 1,260
Al 2,940
01 =2Ujoit| 7,000 6,000 1,000
OuERE ESH 7,000,008 * 14! 7,000
= 2,800
= 1,260
Al 2,940
401 AIEHIL L] 5,000 30,000 25,000
= 2,000
= 900
Al 2,100
01 Al&| 5,000 30,000 25,000
OSQIZAIBINE SXES4 5,000,002 * 141 5,000
= 2,000
= 900
Al 2,100
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A= ZMEE= FA AE=EXH
Hu: HE . ME ZEME ZH(STHS SN/ )
DA E XL AE e DIs HEt e M)
2.8 MM (FH) - NEAIY - BA Al OH &EIE =3}
- - S T iy o L) ° . [= i =5 0:”/‘l|_% ==
405 KHAHFESHI 101,500 120, 100 A 18,600
= 40,600
= 18,270
Al 42,630
01 AHaL 2B FHSHI 101,500 120, 100 A 18,600
Osliz f&J| 4,000,000& * 14 4,000
= 1,600
= 720
Al 1,680
OMEZAIAA 10,000,000& * 14 10,000
= 4,000
& 1,800
Al 4,200
O« E & eIt 50,000,000& * 14 50,000
= 20,000
& 9,000
Al 21,000
OR46= SAEHI(XHE=) 3,000,0008 * 14 3,000
= 1,200
= 540
Al 1,260
ORE= SAEUI(SAHINXZR)
10,000,000& * 14l 10,000
= 4,000
= 1,800
Al 4,200
ORI 14,000,000& * 14 14,000
= 5,600
= 2,520
Al 5,880
O HBHAEESAI AL (AS)
10,500,000& * 14 10,500
= 4,200
= 1,890
Al 4,410
MEMHY XA 613,840 643,440 A 29,600
101 elHH| 500,000 500,000 0
04 JIZtMZ22XsSE+ 500,000 500,000 0
OHttE2r=Z A 500,000,000& * 14 500,000
201 LBt A 76,840 93,540 A 16,700
01 AtE222|H] 52,300 70,000 A17,700
Ogt=ZH| 23,700
opt=0lE Y 8,000&  9000H 7,200
oft= 0l XY 4,000&  1,0000H 4,000
ofE0E 2 5,000&  1,000H 5,000
opr= XA & 5,000& = 300& 1,500
ojt=E0Y S22 MZE 3,000,000 * 14 3,000
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0z N>
-

& CHRI(BIH) - HIRASS - HAS 01l &k o e
opEXS QHME L 50,000& * BONIE 3,000
On =l 12,600
opEXSF 100,000& = 70%F 7,000
opt= 83 oM St 70,000& = 80t 5,600
O=&l 9,000
oft=SHIAZ R SEI 7,500,000& = 14 7,500
ottE=d 5,000& = 100& * 13l 500
opENE S 5,000& = 100¥ * 23l 1,000
Oogx= 7,000
o RoIZAIDtHIcH A ST
7,000,000& ~ 1CH 7,000
232 ZH| 24,540 23,540
Oz332= & HAl 5,740
o 28I HAIZE 30,000& * 100CH 3,000
CRAAASIHE SH4%R
300,000& =+ 504 1,500
oM=EEEDI SUHAES 1,240,000 * 14l 1,240
ONEZHIRXH| 5,000
oMEUANEL RNL
300,000& * 1004 = 13 3,000
oERLAIIIE B
2,000,000& » 1JH= 2,000
OXte. & el 13,800
ofE0E ¥ MNEtiE FFHl
300,000& * 5CH = 63 9,000
oMEXSXE FAlZel
200,000& = 40H ~ 63 4,800
ST 32,000 44,900
o ZAEHAIA B 10,000 7,500
oo=zA2d XA 2,500,000& * 492 10,000
JIEI2 &= 22,000 37,400
ORUSE ¢=0gEs X
100,000& = 170 17,000
O&t20toll M4t 1,000,000& » 5% 5,000
ZH3 5,000 5,000
Ta3 5,000 5,000
Oout= 3012 Ty
500,000& = 10JH2]2t 5,000
=) 141,000 72,000
71,000 72,000
49,000 50,000
=&l 9,000
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A FNEES M AE=X
Su: HE - ME PSUE TH(SUHSLA/AY - NE)

S22 A E 22 Ds 2ot cHed
A .S M. (5 H) - MEAMY - BHAS dE T =}
== ° T 71 (2 T NS oS =5 04| AFOH S o

ocde|lHolIH 2elsag HAdx2
80,000& * 12& 960
oZEI|H 221ESF HZ&=
100,000& * 12& 1,200
CHIQHEARY 242
200,000& * 1A = 123 2,400
CcR0ITHIB +48
200,000& * 1A = 128 2,400
O ZHl 7,840
ogjtEglsEa A2l
B0& * 2,0002|H * 43 7,840
OAl&EEHI= Xl 14,500
SR INLsl 8,000,000 * 14 8,000
SFSWINE~E=PN L] 3,000,000& * 14 3,000
ogtE U SAAIE EEIS KX
1,500,000 * 1JHA 1,500
o2& JIHAIE KXl
2,000,000& * 14 2,000
206 M=l 5,000 0 5,000
01 =4l 5,000 0 5,000
Ox3ts7d 5,000,000 * 14 5,000
301 LetEA3 13,042 12,668 374
12 J|EtE &= 13,042 12,668 374
Ot =L S22 A=SoiEI 24|
41,8003 = 3 * 104 13,042
401 AIEHIZ2Tb] 6,000 6,000 0
01 Al&HI 6,000 6,000 0
OXIoH JIHA H - 2] N2HH
6,000,000& * 14 6,000
AHEE AL 1,759,566 56,000 1,703,566
= 1,084,300
& 232,350
Al 442,916
308 MXIHHMSOIA 210,566 0 210,566
05 KXIEHHMZ2tREY = 210,566 0 210,566
OMEAISAIBIREE S 210,566,000& * 14 210,566
401 AIEHIZ 20 1,549,000 56,000 1,493,000
= 1,084,300
& 232,350
Al 232,350
01 Al&HI ,504,300 56,000 1,448,300
OAMNSHAA 1,455,300,000& * 14 1,455,300
= 1,018,710
= 218,295
Al 218,295
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D AEYRL YRS Y (e @
- _ _ Muo
A 2N Y SHR(B) - MBAY - BES Ao il i~ o HRs2
OAZ e EA 49,000,008 * 14! 49,000
= 34,300
& 7,350
Al 7,350
02 22yl 33,900 0 33,900
OArg g 33,900,008 * 14! 33,900
= 23,730
= 5,085
Al 5,085
03 Al&SOHY| 10,800 0 10,800
OArg g 10,800,0008 * 14! 10,800
= 7,560
= 1,620
Al 1,620
= 5| 9FX| 26 Al 21 b1 473,760 328,320 145,440
= 142,128
Al 331,632
101 o121l 473,760 328,320 145,440
= 142,128
Al 331,632
04 JIAH2RRSES 473,760 328,320 145,440
OLHEF X ZAIIHXI 473,760,0002 * 14 473,760
= 142,128
Al 331,632
AISHAZ0 LS 72,400 72,400 0
= 21,720
Al 50,680
01 YBEAD 72,400 72,400 0
= 21,720
Al 50,680
12 JIEHR A2 72,400 72,400 0
ORISE AZ0LX 72,400,008 * 14! 72,400
= 21,720
Al 50,680
AFRITHE 3,100 221,551 ~218,451
01 Lsr2y| 3,100 3,100 0
01 AtR2elt] 3,100 3,100 0
S2= AYNTH 2,508 * 2F * 3200 1,600
OMH2 X 24Y 1,500,008 * 14! 1,500
ST A 0l 2 X 2 92,000 92,000 0
= 27,600
Al 64,400
301 YsrPAS 92,000 92,000 0
= 27,600
Al 64,400
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AR HRTER SH A=
M M- M ASHE TH(SHSSA/AY - ME)
el AEEX . AEREIIS 2 (B9 &2
_ _ HE T
AZ 2N - FH - CRA(FAH) - MRAE - BES O AF K 'oﬂ/'\_FOH Hlws2
12 JIEtR A2 92,000 92,000 0
OTMEHR AFZOIZXIR 92,000,000 * 14! 92,000
= 27,600
Al 64,400
AZgTE 2FBY 4,000 5,000 A 1,000
202 0fH| 4,000 5,000 A1,000
01 2L 0dHl 4,000 5,000 A1,000
OMZET - MER2IIIS 23 AP XX
80,0002 * 5% 4,000
N EEBIES 251,000 264,000 A13,000
= 75,300
Al 175,700
308 XHXIEHH SO 251,000 264,000 A 13,000
= 75,300
Al 175,700
05 XIXICHHI2 RS2 251,000 264,000 A 13,000
O 0l 8|t 251,000,0008 * 14! 251,000
= 75,300
Al 175,700
AFSIABIA ol2i2i| 26,248 0 26,248
=2 26,248
301 YA 26,248 0 26,248
= 26,248
09 ZoRLRQATAS 26,248 0 26,248
OZU22ed =23 17,952,008 * 14! 17,952
= 17,952
OZBA2227 DEH| 8,296,002 * 14! 8,296
=2 8,296
MEAS 2308 =5 11,462,758 13,057,391 A1,594,633
= 4,187,289
=l 1,394,000
= 1,219,325
Al 4,662,144
AR E U 2 124,904 113,366 11,538
101 o121l 43,204 38, 166 5,038
04 JIAH22RSES 43,204 38, 166 5,038
OYsRe g ALSe 43,204
S 41,8002 * 388 * 230 28,842
oFE4Y 41,8002 * 384 * 462 5,769
oo xt g 41,8002 * 3% » 112 1,380
oAZHelag
7,84020 * 13 * 2302 * 44|12} 7,213
201 Y2 ay| 45,700 47,200 A1,500
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a= dHEE= A AE=EX
A AT - ME VSN T(STHSSL/AY - UE)
& MEAS 2SI BF (etel: =3
MR- FH-E(BN) - R - BaS 01 &t o8 Bl HlRE2
0 & 24
01 AtS 22l 17,500 20,300 22,800
Ogel=gHl 10,000
oOHH=E - 222 HE 5,000,000& = 14l 5,000
o2gHIZ7L 5,000,000& = 14l 5,000
o=2d=+¢ 7,500
oY EAY LR
50,000& * 30 = 1@l 1,500
oY EAY =AY
50,000& * 90g = 10l 4,500
= EHO0IXl =Xl2c 1,500,000& » 14 1,500
02 2323l 28,200 26,900 1,300
Oz32= & HA 23,200
ocXMI|AAMNTE 300,000& = 123 3,600
oc¥eL - BhasE 200,000 * 23| 400
oMI|lZ 1,400,000& * 12& 16,800
o4 -ol=E2 200,000& = 12& 2,400
(OZNF=FS:1ENE:] 5,000
oo AHASAE AIER X
5,000,000& = 14l 5,000
206 M= dl 6,000 8,000 22,000
01 M2H 6,000 8,000 A2,000
OFYE T4 22 10,0002 * 100X 1,000
OFY2 NIRZLE 328
5,000,000& = 14l 5,000
401 Al EHIL 201 30,000 0 30,000
01 Al 30,000 0 30,000
OB YRIALE JIAROITE
30,000,000& * 14 30,000
MEMEOIZ(HE) =4 420,000 95,000 325,000
= 294,000
Al 126,000
401 Al&HIZL=RCHYI 420,000 95,000 325,000
& 294,000
Al 126,000
01 Al&H| 360,000 95,000 265,000
Oolge| (S )MHEMEHOS TS
360,000,000& * 14 360,000
= 252,000
Al 108,000
02 Zeldl 55,000 0 55,000
Ootge| (S )MHEMEHOS TS
55,000,000& * 14 55,000
= 38,500
Al 16,500
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500,000
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25,000

7,500
17,500

1,980,000

470,000

50,000

= HnH

3,913,918
1,839,954

442,189
1,631,775

5,538,595

A1,624,677

201 Bt

= H W

20,000
10,000
3,000
7,000

20,000

01 AtR2te
=t

20,000,000& = 14!

= H W

20,000
20,000

10,000
3,000
7,000

20,000

401 AIEHIZ 208

= H W

2,452,210
1,027,894

248,295
1,176,021

1,921,380

530,830

01 Al£HI
OZURItRI|

1,504,447 ,000& * 14

= N W

2,342,210
1,504,447

840,804
194,593
469,050

1,621,380

720,830
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402

= H W

1,441,708
802,060
190,894
448,754

3,617,215

A2,175,507
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1,085,064,000& = 14|

356,644,0002 * 14l

= H W

= H W

1,441,708
1,085,064
603,924
143,342
337,798
356,644
198,136
47,552
110,956

3,617,215

A2,175,507

el At

= H W

3,120,318
1,900,271
351,782
868,265
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754,885

2,913,800
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A= FHTER SN A=
Hu: HE - ME S EH(SEHLSA/YY - ME)
NYAS 250|825 (5l &2
_ _ SIEN
2 RA MO (BH) - MBAY - B2 Ao il b o bRz
401 AlZHIL 2T 397,029 415,355 ~18,326
2 233,218
= 45,431
Al 113,380
03 Al&=CHYl 397,029 415,355 ~18,326
OZZ AR 397,029,002 * 14 397,029
2 238,218
= 45,431
Al 113,380
AEMEIOIE TATIR 107,000 0 107,000
301 YLrBAE 2,000 0 2,000
10 SBAAE 243 2,000 0 2,000
ONEMEIDIS MRXAS U DT
2,000,0008 * 14! 2,000
401 AlZHIL 2O 105,000 0 105,000
01 Al 105,000 0 105,000
OhJI2l MEMENDIS EYE(2XD)LX
100,000,008 * 14! 100,000
ORoS MEMEIOIS 23 THIAY
5,000,000% * 14! 5,000
NsE 2l 30,866 70,725 39,859
101 2124b| 9,866 8,225 1,641
04 JIVH2ES L4 9,866 8,225 1,641
OANRY el 9,866
olle2a 41,8009 * 1% * 2002 8,360
oFELY 41,8009 * 1% * 292 1,213
cERAY 41,8009 * 1% * 72 293
201 Yer2 YY) 9,000 60,500 A41,500
01 ALR eIt 19,000 60,500 A41,500
SEIE=Yi] 19,000
oUW EYL4E 8,000,002 * 14} 18,000
SARY S S2 1,000,008 * 14 1,000
206 2| 2,000 2,000 0
01 T2 2,000 2,000 0
OSMM DT Y 5002l * 4,0007H 2,000
MR NBIASE 140,082 54,950 85, 132
= 84,051
= 16,810
Al 39,221
101 121yl 134,834 52,075 82,759
= 80,902
= 16, 180
Al 37,752
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55,008
38,506
89,846

305,867

A122,507

401 AIEHIZ 20U

= H W

183,360
55,008
38,506
89,846

305,867

A122,507

01 Al£Hl

OS&ZFHHIMY 183,360,000& * 14!

= N W

183,360
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255,867

AT2,507

K%

o

02
o
A
0x

]

200,000
100,000

200,000

_71_




A= FHTER SN AESTID
I AN .M SN T4 YA/ - AE)
Sl MEAS 2808 25 (Sl #)
_ _ HE T
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
= 30,000
Al 70,000
401 AlAHIZL 2 CH] 200,000 200,000 0
z 100,000
= 30,000
Al 70,000
01 Al& ] 200,000 200,000 0
OSHNYSHEH 200,000,0008 * 14} 200,000
z 100,000
= 30,000
Al 70,000
AT S 180,576 0 80,576
2 90,268
= 18,058
Al 72,230
201 LByl 3,576 0 3,576
2 1,768
= 358
Al 1,430
2 T2l 3,576 0 3,576
OYeIIANFHI2Y 3,576,0008 * 141 3,576
2 1,768
= 358
Al 1,430
405 THAHE St 177,000 0 177,000
2 88,500
= 17,700
Al 70,800
01 RMUSEH S| 177,000 0 177,000
SHESIFENER 177,000,008 * 141 177,000
2 88,500
= 7,700
Al 70,800
MRS M AR 57,234 0 57,234
2 30,717
= 7,955
Al 18,562
402 RIAX 20 H 57,234 0 57,234
2 30,717
= 7,955
Al 18,562
IE S 57,234 0 57,234
ST 43,600,0002 * 14} 43,600
2 21,800
= 6,540
Al 15,260
oBLR Ly 1,034,000 * 14! 1,034
= 517
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A FRTER SN A=
Hu: HE - ME S EH(SEHLSA/LY - ME)
Sl NRHY X (e @
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
401 Al&HIL 20| 100,000 0 100,000
01 Al&H] 90,000 0 90,000
OFREH £IH3| 90,000,0002! * 14! 90,000
03 Al& S CHY| 10,000 0 10,000
OFREH %43 10,000,002 * 14} 10,000
MNYREXH 2B 3,200 3,000 200
202 01t 3,200 3,000 200
01 2Uoibl 3,200 3,000 200
OMEZAY N HRFEZ 800,008 * 4% 3,200
SIS ASKH 443,550 0 443,550
= 304,885
= 39,200
Al 99,465
201 Yer2 Y| 7,000 0 7,000
01 Attt 6,000 0 6,000
OS2t ASTAAY TSI (ABIZI})
500,0008 * 1221 6,000
03 A2 | 1,000 0 1,000
L TVEIE-WESSINITESS
1,000,008 * 18l 1,000
202 01t 10,000 0 10,000
= 7,000
= 900
Al 2,100
01 =2Uoibl 10,000 0 10,000
OMEH ASTRAY T
10,000,0008 * 14} 10,000
= 7,000
= 900
Al 2,100
301 LBAS 1,000 0 1,000
10 SBAAEI 243 1,000 0 1,000
L EVEIR-"EETNES]
200,002 * 13| * 53 1,000
402 RIAR20IH 425,550 0 425,550
= 297,885
= 38,300
Al 89,365
01 QIARZRE 425,550 0 425,550
OMSH2 HAQS ASK
425,550,0002 * 14] 425,550
2 297,885
= 38,300
Al 89,365
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101 el 24|
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26,343
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3,161
7,376
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14,843
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26,343,00080 * 14!

= H W
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7,376
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H W
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Al 293
10 dAtAHIBA S 1,048 100 948
OSAsX2ed gl
1,048,000& * 14 1,048
= 629
= 126
Al 293
401 AIEHIZ 2 624 2,029 A1,405
= 374
& 75
Al 175
03 AIE=20HdI 624 2,029 A1,405
OZA=X2e & 624,000 * 14] 624
= 374
& 75
Al 175
Su3Rs & dEHASTI 250,000 150,000 100,000
401 AIEHIZ 2 250,000 150,000 100,000
01 Al&HI 248,000 150,000 98,000
OstunE&3s At 248,000,000& * 14 248,000
03 Al&=20Hdl 2,000 0 2,000
Ot WZJs AL 2,000,000& » 14 2,000
24 32 OHE AL 200,000 0 200,000
401 AIEHIZROHbI 200,000 0 200,000
01 Al&H| 198,000 0 198,000
Otz A A 198,000,000& * 14 198,000
03 A& 01l 2,000 0 2,000
OJtZ2= & MY 2,000,000& * 14 2,000
2+ 24 124,700 120,000 4,700
201 B2 H| 700 0 700
01 AtR2t2ldl 700 0 700
ozd=¢ 700
cJlZ2 Ao =<
,000& = 13 » 109 700
206 M=l 19,000 15,000 4,000
01 =z 4l 19,000 15,000 4,000
Odtg=s=22| Hlg 7 10,0002 * 700X 7,000
Otz =22 <t 10,0002 * 400% 4,000
OJdrza=22 M7 8,000,000& * 14 8,000
305 Hia=S 5,000 5,000 0
01 i3S 5,000 5,000 0
ONE=HY ez 5,000,000 * 14 5,000
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Os32= & HAl 6,340
oRZRF X AISFMUEXN X Hh=
= 340,000 * 12/ 340
oR2Rd E ASFMHEX HII=
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cERY H AFFMHEX AZH]
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OAlZ EHIRXld 9,000
o=X&H |RFUH 9,000,000 * 14 9,000
206 M= Hl 400,000 200,000 200,000
01 M=Hl 400,000 200,000 200,000
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402 QI2HHE01M 15,000 0 15,000
01 BIZFGEEXR 15,000 0 15,000
O==0 HEIN=EHIXA 3,000,000& » 5 15,000
Adsds2d HEI2 Beas 6,000 5,000 1,000
308 NXISHHSOIE 6,000 5,000 1,000
08 JIEtRE S 6,000 5,000 1,000
OBFZ 4B ©20|B 232
6,000,000& = 14 6,000
2= &0TH off 04 2 2,000 4,000 22,000
201 LetEIH| 2,000 4,000 A 2,000
01 AtR22/Hl 2,000 4,000 22,000
OF™ZYX XS Xt 500,000& * 44 2,000
ofl=H2D] XX 16,800 0 16,800
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0124 XI 2 & 3t (B9l & 2)
] _ rSIEL== =
= - 2N - 382 (SH) - NIRAY - @E% Hlw &2
= 4,800
Al 12,000
402 212FXHEOIF 16,800 0 16,800
= 4,800
Al 12,000
01 AX=EE 16,800 0 16,800
OBl &2 A& X & 16,800,008 * 14! 16,800
= 4,800
Al 12,000
WYl MRS 8,000 18,018 A 18
= 3,600
Al 14,400
201 Y2 Y| 18,000 18,018 A18
= 3,600
Al 14,400
01 AFR2elH] 18,000 18,018 A18
Ot Y4t H 18,000,008 * 14! 18,000
= 3,600
Al 14,400
XY IFRlAL 21,000 12,000 9,000
= 6,000
Al 15,000
402 Q12FXHEOIF 21,000 12,000 9,000
= 6,000
Al 15,000
01 2AX=EE 21,000 12,000 9,000
OFYINFALXE 21,000,008 * 14! 21,000
= 6,000
Al 15,000
01240l HOIRZ OIRt 44,100 64,840 £20,740
= 3,220
Al 30,830
307 12+0IH 44,100 64,840 20,740
= 3,220
Al 30,880
08 OIXH2 X3 44,100 64,840 £20,740
O0fefereiof 44,100,008 * 14! 44,100
= 13,220
Al 30,830
VRGP 57,940 153,384 195,444
= 17,382
Al 40,558
307 12+0IH 57,940 153,384 195,444
= 7,382
Al 40,558
06 282 57,940 153,384 £95,444
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= HN W

204,480
102,240
20,448
81,792

204,480

402 22t H=01H

= Hn W

204,480
102,240
20,448
81,792

204,480

01 2ItAEE X
X

17,040,000 » 12=

= N W

204,480

204,480
102,240
20,448
81,792

204,480

S0l A0 I ZHIXI

= H

20,000

6,000
14,000

20,000

402 2I2tt=01A

=

20,000

6,000
14,000

20,000

01 2I2tA=
L

42 AlOHY 01 B HI X &

20,000,000& = 14l

=

20,000

20,000

6,000
14,000

20,000

= H

95,666

28,700
66,966

95,666

307 2120l &

= H

95,666

28,700
66,966

95,666
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o
M0

95,666,000& * 14!

= H

95,666

95,666

28,700
66,966

95,666
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1,576,800
350,000
207,000

39,600
980,200

1,120,280
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1,576,800

350,000
207,000

1,120,280

456,520
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A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T 71 (2 ° TNs a3 &= 04| AFOH U=sa
= 39,600
Al 980,200
F2A =SS SEHAE 0| 300,000 0 300,000
401 AIEHIZRbI 300,000 0 300,000
01 Al&HI 297,000 0 297,000
Ot A E0IA™  297,000,0003 + 14] 297,000
03 AlE=20HdI 3,000 0 3,000
Ot=23sHAE0IH 3,000,000& * 14 3,000
oA H| 500,000 200,000 300,000
= 350,000
Al 150,000
401 AIEHIZ 20 500,000 200,000 300,000
& 350,000
Al 150,000
01 Al&HI 500,000 200,000 300,000
O erE | 496,400,000 = 14] 496,400
z 347,480
Al 148,920
O otAH| 20l 3,600,000& * 14 3,600
2 2,520
Al 1,080
oHerotM Dl ¥ EEZP H3l 47,500 95,000 A47,500
101 Ql244| 12,540 45,000 A32,460
04 JIZtHZ22XSE+ 12,540 45,000 A32,460
OdHCHItM D " S ol 24|
41,8003 » 5& * 60Y 12,540
201 LetgH| 9,960 25,000 215,040
01 AbR2t2ld| 9,960 25,000 A 15,040
OdfferdtM DI el 2Zhl 9,960
o MY D= Xt Xt 500,000 * 14CH 7,000
oMY D=0t 200& * 14,8000H 2,960
402 SI2tX 201N 25,000 25,000 0
02 SI2tCHSAFS I 25,000 25,000 0
O EZRMY DMl (+8) 25,000,000& * 14 25,000
SMNESSHGER2INA 18,000 20,000 A2,000
307 BI2t0l™ 18,000 20,000 A2,000
02 QIZ+AAMEX 18,000 20,000 A 2,000
O4nSTERAN 2HN 2
18,000,000& = 14 18,000
SeE22 27,000 27,400 2400
201 LEtE 3| 3,000 4,000 A 1,000
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Pl

ol R

== * T 71 (2 ° - = e e =5 O:H{ﬂ,% Lsa
01 AtR22lH| 3,000 4,000 A 1,000
OBRa+H S5 500,000& * 23| 1,000
Osm=sH2L ULt 500,000& * 43| 2,000
307 QI2t01A 20,000 20,000 0
05 QIZtRAEZ 20,000 20,000 0
O3x+H YAl &= 20,000,000& = 14! 20,000
401 AIEHIZ 2 HbI 4,000 3,400 600
01 Al&H| 4,000 3,400 600
O3R+H SYHAIEZ HIISH
4,000,000 * 14 4,000
HYH =2 H 3t 95,000 95,000 0
| 57,000
= 7,600
Al 30,400
307 QI2tol™ 95,000 95,000 0
J| 57,000
= 7,600
Al 30,400
05 QIZtRAEZ 95,000 95,000 0
OdilHII=& st 95,000,000& * 14 95,000
J| 57,000
= 7,600
Al 30,400
SSHFaZAE A8 & B4 (82) 277,000 250,000 27,000
402 212t XH=01H 277,000 250,000 27,000
01 a2t 28x 277,000 250,000 27,000
OF2r g3z A& (&)
227,000,000& * 104 227,000
Oy etXols+2 B(22)
25,000,000 * 2942 50,000
ZHHESE SSHNEXNA 63,000 0 63,000
& 18,000
Al 45,000
402 It X =01 N 63,000 0 63,000
= 18,000
Al 45,000
01 It GEEZ 63,000 0 63,000
OZ0dsE==HMEXE 63,000,000 * 14! 63,000
= 18,000
Al 45,000
A2E SEIAELEY ABIAY 46,000 66,000 20,000
201 Let243| 16,000 16,000 0
01 AtE222|Hl 16,000 16,000 0
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MU HUBALE(BARS/HY)
el s (erl:@g
A= .= 2 . 9| (3 o o FSJE -
A 2AH-FH-HA(SH) - NRAY - BES O AF K Ofl At ot HwsZ
O gm7Pzs 2 o8l ZYIYR
500,0008 * 4CH * 82 16,000
401 AEHIL 20 30,000 50,000 20,000
01 Al&| 30,000 50,000 20,000
O $EPZES L 28 30,000,000 * 14 30,000
EAHS0IE =& 33,300 33,300 0
= 10,000
Al 23,300
401 AEHIL 20 33,300 33,300 0
= 10,000
Al 23,300
01 Al&d| 33,300 33,300 0
OEANSo & EA 33,300,008 * 14! 33,300
= 10,000
Al 23,300
HYRELY YMBY IS 20,000 20,000 0
= 4,000
Al 16,000
206 M2l 20,000 20,000 0
= 4,000
Al 16,000
01 =2l 20,000 20,000 0
OMLRRRY SHEHIHIS
20,000,008 * 14! 20,000
= 4,000
Al 16,000
SELEESBIERS) 150,000 0 150,000
| 150,000
101 Q1248 30,000 0 30,000
| 30,000
04 JAMZRIISES 30,000 0 30,000
OBl O IH M3 I| 4 30,000,008 * 14! 30,000
| 30,000
401 AEHIL S0 120,000 0 120,000
| 120,000
01 Al&| 120,000 0 120,000
O0&H0I8 BXHIISSN
120,000,0002! * 141 120,000
| 120,000
HHSS AU (HY AT (IIEHIIE) 26,200 28,681 £2,481
oz 2 oyl 4,200 4,200 0
olzi 2yl 4,200 4,200 0
203 Y=Y 4,200 4,200 0
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